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Important Instructions:

This sample paper comprises of 50 questions for each class while the actual paper
will be of 100 questions

Question paper is divided into 5 sections — English, Science, Mathematics, General
Knowledge & Logical Reasoning

Every question has 1 correct answer

There will be no negative marking

All questions carry equal weightage

Duration of actual exam (with 100 questions) will be 2 hours

In the actual exam, please read the instructions given on the OMR sheet carefully
and submit the completely filled OMR sheet before leaving the exam hall

In the actual exam, additional 10 minutes will be provided for reading the instructions
and filling the OMR sheet
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Duration : 1 Hr | Date : No. of Questions : 50 Max. Marks: Class : 5
Section A- Mathematics a. =
b. <
1.  What is the predecessor of 35,46,876 c = _
(35,46,876 Pt wdad / predecessor UG HIF d. Cant be determined
e
a. 3546875 b. 34.46,876 Shiva and Vishnu had an ice-cream eating
c. 25,46,876 d. 3546,877 competition at an ice-cream parlour. Shiva
ate 11/15 parts of his cup and Vishnu ate
2. 29 is written as in roman numeral 17/20 part of his cup in one minute. Who
(29 I AT H foran sem) won the competition?
a. XXX b. XIX a. Shiva
c. IXX d. XXVIII b. Vishnu
c. Both had a tie
3.  Find the volume of box shown in figure d. Cant be determined
(fEU U 31PR BT 310+t FARY) (Rra 3R faw] 3 sieH @M B i
&1 forgd uep e o R 7 oo &9 &1 11/15
e @ iR w3 3197 U &1 17/20
e, srarse fadifar & sfidr 7)
15¢cm a. @
e iy g:i\fl'w
10em s ;
d. &1 dl a7 gehdl
E. ?ig EEE:E z: Convert 17/1000 into decimal and round off
C‘ 295 cubic to 2 decimal place. _
4 750 cubic m 17/1000 I CHCId & dI1G &I 3! Teb Fae
' a. 0.017 b. 0.02
4.  What will be rise in water level in a bucket if a ¢ 007 d. 0.001
::jehf' i l;?r?]t:; ;nf;g:;ei:ir?: T?h e and Vikram was born on 29 September, 2007.
@%afwa?ﬁ?ﬁwfi@;ﬁﬁ?ﬂ 3R 3T How many leap years has he seen on his 10"
ST ST a1 O B AT = Sem @, ST bﬁi"hdaﬂ .
= 5¢m g 3R and JA1§ = Scm) W;ETIE? <3| ! mm%g%
a. 125ml b. 15m agﬂﬁ S W
c. 150ml d. 100ml (Leap Year)¥ §
a. 2 :
5.  Put the correct sign in box ¢ 4 d. 10
(el e amd)
13/26 __ 18/36
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Reena bought a gold ring for Rs. 18,740.
After 5 years she sold it back for Rs 21,590.
How much profit or loss she made?

a. Loss of Rs. 2850

b. Profit of Rs. 2850

c. Neither profit nor loss

d. Cant be determined

19 18,740 U8 T GH Bt 3 W, 5
e 916 394 21,590 394 T 38 9199 &4 < |
35 fope Y a1 JhaH faan)

2850 U &I JHHH

2850 YT P oMY

A1 &1 TTH BT JHHH

81 gl TRl Wbl

on oo

Sandhya's mother makes special dishes for
breakfast. Sandhya is trying to keep a record
of variety of dishes her mother makes in a
month. Find out how often she makes upma.

(Ge @1 A A1 & fore Ry sieE sl 8
e U HelH H 991 &% ool b RPpig
@ ] DRI B TG g1 Ul T b e
® A1 7 foail §R IuHT 417 )

number of days
1

B paratha
B pasta

B upma

m sandwich

a. 9days
c. bdays

b. 3 days
d. 4 days

The difference between smallest and largest

possible four digit number is

a. 8999

b. 9990

c. 8900

d. Can't be calculated
incomplete information

because of

Class 5

12.

13.

14.

(e DI 3R G99 gt IR D] B 4& &
da P IR D)

8999

9990

8900
_:§¥gﬁniﬁ1%ﬁﬁ?ﬂfﬁﬁﬁiaﬂ”qiiﬁﬂqaﬁdﬁ

on oo

Find the smallest number that lies between
98000 and 99000, when its digits are
arranged in decreasing order.

98000 3R 99000 & did @I THl Tad VIt
&1 &1 Ual oY, e ofd "ed oH |

AR fHU TR §)
a. 98012 b. 97654
98765 d. 98210

Radhika got 56 marks in English out of 60.
Calculate the marks in percentage.

RTfeT 1 Sfere 60 H & 56 7R i €, U8
faram wfa=rd geim)

a. 93.0%
c. 9334%

b.93.33 %
d. 9332 %

Find the incorrect statement

a. Aline can be extended in both direction

b. Aline can be extended in any direction

c. A line segment can be extended in one
direction

d. A line segment cannot be extended in
any direction

TeTdl Yieg &I gA1d D

a. U X1 1 T femmaii & g i wad

g
b. gﬁﬁiﬁﬂiﬁ?ﬁ%@ﬁ1ﬂiaﬁﬂiiiﬁgu1ﬁﬁ%ﬁﬁ?ﬂ
c. gaﬁi@qrﬁﬁafﬁrGaiﬁiﬁniiiﬁaﬁn:ﬂliﬁﬁ?n
d. UH Y@ e & foddt +f ffan & ser a8t
ol gHhdl ©
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Priya is facing the North. She turned
anticlockwise facing the South, what angle
did she turn through?

0 I (North) o & % @31 fl, a1 gl
& fqudia f=n 9 quaR 98y & R® 43|,
o fapea @ R g8l 2
a. 180°

. 9

b. 225°
d. 45°

Section B- English

They won the match. The trophy is
a. Their b. Theirs
c. Themselves d. Those

of the businessman is clever. Both
make foolish mistakes

a. Either b. Neither

c. Any d. Both
Cuckoos and sparrows in the sky.
a. Fly b. Flies

¢. Flying d. Flown

Pick the synonym of accuse

a. Excuse b. Blame

c. Clumsy d. Called

Convert direct speech into indirect speech:
My father said, "What is his name?”

a. My father said, "What was his name?"

b. My father said what his name is?

c. My father asked what his name was.

d. My father asked his name.

Which phrasal verbs in column I is correctly
matched with the meanings in column II

Coulumn I Column II
a. Bring up tolerate
b. Setout started his journey

c. Turned into raise from childhood

Class 5
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23.

24.

25.

26.

27.

28.

29.

30.

d. Break away from  became

I want a pizza a chocolate cake.
a. Beside b. By
c. Besides d. Bed side

Jack and Jill went up the hill to fetcha ___ of
water

a. Pail b. Pale

c. Payl d. Pael
The bees on the flowers

a. Buzzed b. Wizzed
¢. Roamed d. Fizzed
Anna saw in the mirror and
smiled.

a. Herself b. yourself
¢. Anna d. itself
Suddenly eagle flew close to
toy soldier.

a. An,a b. An, the
¢. The, the d. The, a

My grandfather's health quite good.
a. Is b. Has
c. Are d. Have

As tiger is to tigress, so fox is to

a. Foxess b. Foxen
c. Vixen d. Fax
Choose the correct word

a. liesure b. leisure
c. laysure d. laizure

Choose the correct statement

a. Deena did not come to school today
because she is sick.

b. Deena did not come to school today
because she was sick.

Pllgf" -._JI
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c. Deena did not come to school yesterday
because she is sick.

d. Deena will not come to school today
because she was sick.

Section G- Science

31. A disease caused by deficiency of Vitamin C
15
a. Night Blindness b. Scurvy
c. Anemia d. Cholera
(faeTfi ¢ & &+t @ B 4 9 gl 8)
a. it b. WHdl
c. Gl pl d. BRI
32. An adaptation not shown by desert plants is
a. Reduced leaves
b. Green and fleshy stem
c. Fibrous roots
d. Spines
@1 fawar gyl & ure ST aret delf
el g ,
a. BICl /¥ & SRR gfl
b. & 3R TETEl &l
c. BICWER, ToHaR 58
d. &ie
33. Which of the following statements is true
about blood circulatory system?
a. The right atrium of heart receives oxygen
rich blood from lungs.
b. The left atrium of heart receives oxygen
poor blood from lungs.
¢. The right atrium of heart receives oxygen
poor blood from lungs.
d. The left atrium of heart receives oxygen
rich blood from lungs.
(Fafafed 8 ¥ & U S Yo R o
& IR 7 T 27)
a. §aU P Al el sl gRI SffawicH
YU T I &l §
Class 5

34.

35.

36.

37.

b. 86U &1 4l Hifdie WSl gRI &H
IS arel Jod U &l &

c. T & 91 Mfcic Bwel gRI SfiadieH
Y WRYR I YT HIal &

d. g9 &1 &g offdle Bwel gR1 &H
ST a1l Yad Ured &edl o

A flower which is dull brown in colour but has
strong odour is often pollinated by

a. Flies b. Butterflies
c. Birds d. Honey bees
Udh P Sl 1 H el ¥ ¢ alfch= al 3¢l Tl
TaIFRR_ AWfada s

a. AfqEq] b. faaferar

c. gaft d. By Afaay

An animal can be classified as reptile, if it has
following characteristic features:

a. Presence of backbone,

b. presence of scales

c. lays eggs

d. All of the above

(U SR B GgU & wu J Fiffgr fovan s
bl 8, AR 39 Fafafad fasvan 8)

a. i @I gl b. XTedh

c. f&auyg d. HU & gt
An elbow is an example of joint
a. Ball and socket joint

b. Pivot joint

¢. Hinge joint

d. None of the above

(TH DIt Siige P U JaTeU B)
a. d§id 3R Hide Hige

b. TBISIS

c. ol

d. TR PE o 7

Water is purified before being used for
drinking. The method used to remove soluble

impurities from water is
a. Filtration
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b. Sedimentation ¢. heat, chemical

c. Distillation d. electrical, heat

d. Decantation (old mm@%mgﬁm%ﬁ
@t § gaRia oRIfedl & gen & fau Sl Gl § ged Sl 8)
SRS P S aredt fafd) a. IV G, el ol

a. B b. 3f@HGH b. UR e, faga Sl

c. SfEad d. R c. I G, TS FHolt

d. faga &, 3w Fuf
38. Which simple machine is used by the

President, while hoisting the National flag on Section D- General Kﬂﬂ“"lﬂdgﬂ
Republic Day
s ;_eur:-r 4ol E SEEI}N 41. The branch of science that deals with the
N _r':cﬁlne %_:_"E T : Euq:},r study of mind and behaviour of human
Wli“ml 1 ST B %E beings is called
e 1 a. Biology b. Psycology
a d‘@ ¢. Philosophy d. Seismology
G S NEHT ! (faw= @t 2l S H® & HdER 3R B &
HdgR I Ydifia
39. Suman is observing the shadow of a ball at a a  SaRTH ® b. FRTHA
fixed position from the wall by using light c. RCICRUE| dlﬁﬁqﬁiﬁ
from a torch. As she moves the torch ' '
sideways she observes that 42. The Vice-President of India is elected by

a. Shape of the shadow keeps changing
b. Length of the shadow keeps changing
c. Shadow appears and disappears from

a. Members of Lok sabha
b. Members of Rajya sabha
c. Members of both Rajya sabha and Lok

time to time sabha

%ﬂ:?llqg Q;%h%vsﬁm a1 T IR d. All citizens of India

e w afa @ o ) Rl I T 2 @ (IR SR 1 e i e )

%ﬁ%%ﬂgwﬂmﬂaw%aﬁ b 15T T ¥ e

a. BT BT SR a&adl el & ;' E?ﬁwwwwﬁm

b. BT H! AT Sead edl & '

C. ﬁ?‘l—ﬁ fears &t €, SR Pt T & 43. is the largest river in India.

>t Ganga b. Yamuna

d. W Brahamputra d. Narmada

YRd B! gad a1 A6 B 1)

40. When you iron your school dress the
energy is transformed to

energy

a. heat, electrical

b. solar, electrical

NN W

. i,
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is known as Nightingale of India
(Bharat Kokila)
a. Sarojini Naidu
b. Lata Mageshkar
¢. Asha Bhosale
d. Indira Gandhi
( @I Nightingale of India (HRd

HIfpen & Y H AHI S €)

b. RIS UG b. T AT
c. ORI HIFd d. gfeRy et
Video gaming brand-PLAY STATION is
owned by

a. Motorola b. Google

c. Sony d. Microsoft
(difsar AfET §iS- PLAY STATION &1 Wifid
foas Uy 87)

b. HIERI b. TATd

c. HHI d. ATSshINTTe

Section E- Logical Reasoning

Answer the following question based on the
letter-number sequence given below:

(-ird f4U T Letter 3R Number H & 3fUR
R YUY PHIIW < )
B3KGS5PD79ERJIMT6ZHQ3IW2A
Which of the following letter/number is
exactly in the middle between the 7"
letter/number from the left end and 9™
letter/number from the right end?

®IF 1 auf a1 3 aff 3R ¥ grad SR g
IRFAG iy F S HE
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48.

49.

50.

oo
—_ A

a. |

c. M

Complete the pattern
ACE, BDF, CEG, ____, EGI
(e & W ACE, BDF, CEG, ____, EG])
a. DFH b. IKL

c. DF) d. FGI

As knife is to apple so pen is to

a. Table b. Paper

c. Penstand d. Write

(3R dIp ¥4 & ol U §I7M)

a. 7ul b. T

c. Bd d. T
Arrange the following in logical sequence
1. Birth 2. Marriage
3. Job 4. Retirement
5. Education

(e SiepH 1 Frofefad &1 srafud &)
1. S 2. 91d]

3. Al 4. 941 fAgfa
5. fRra

a. 12345 b.1,34.25

c. 15234 d 15324

===y ===y

Which of the following words can not be
formed from COMPASSIONATE
(COMPASSIONATE & 9 # & @11 ¥ Usa! &1

T -1e e ot Uahdi @)
a. PASSION b. COMPASS
c. NATION d. MASON
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